C:# Multiplication Word Problems Name:

Solve each problem. Answers
1) A store owner was buying uniforms for his employees. If each of his stores needed forty-
six uniforms and he had fifty-one stores, how many uniforms would he need? 1
2.

2) If anindustrial machine could make forty-two erasersin a second, how many erasers
would it have made in eighty-nine seconds?

3) Anairplane compartment can hold fifty-eight pieces of luggage. If asmall plane had forty- || 4.
four compartments, how many pieces of luggage could they hold?

5.
4) Frank was collecting cans for recycling. In amonth he had collected forty-two bags with
forty-seven cans inside each bag. How many cans did he have total? 6.
7.
5) There are forty-seven pieces of popcornin asmall bag. If amovie theater sells eighty-five
small bags, how many pieces of popcorn would they have sold?
8.

6) A bouquet of flowers had twenty daisiesin it. If aflorist had sixteen bouquets, how many | o.
daisies did they have total?

10.

7) A pet store sold twenty puppiesin one week. If each of the puppies cost sixty dollars, how
much money would they have made? 11.

12.

8) At aschool fundraiser the students sold fifty-nine boxes of candy with each box having
fifty-seven piecesinside of it. How many pieces of candy did they sell total ?

9) There arefifty teamsin the state triviatournament. If each team has fifty-six players, how
many players are there total ?

10) Davewas building aLEGO tower. He built it thirty-five stories tall with fifty-one LEGOs
on each story. How many LEGOs did he use total ?

11) A movie theater has sixty-one rows of seats. If each row has sixteen seatsin it, how many
seats does the theater have total ?

12) George was helping his mom plant vegetables in the garden. Together they planted ninety-
two rows of vegetables with forty-nine seedsin each row. How many seeds did they plant
total ?
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Ch Multiplication Word Problems Name: Answer Key

Solve each problem. Answers
1) A store owner was buying uniforms for his employees. If each of his stores needed forty-
six uniforms and he had fifty-one stores, how many uniforms would he need? 1 2,346
2. 3,738
2) If anindustrial machine could make forty-two erasersin a second, how many erasers
would it have made in eighty-nine seconds?
o s 2552
3) An airplane compartment can hold fifty-eight pieces of luggage. If asmall plane had forty- || 4. 1,974
four compartments, how many pieces of luggage could they hold?
5, 3,995
4) Frank was collecting cans for recycling. In amonth he had collected forty-two bags with
forty-seven cans inside each bag. How many cans did he have total? 6. 320
7. 1,200
5) There are forty-seven pieces of popcornin asmall bag. If amovie theater sells eighty-five
small bags, how many pieces of popcorn would they have sold?
8. 3,363
6) A bouquet of flowers had twenty daisiesin it. If aflorist had sixteen bouquets, how many | o. 2,800
daisies did they have total?
10. 1,785
7) A pet store sold twenty puppiesin one week. If each of the puppies cost sixty dollars, how
much money would they have made? 11. 976
12 4,508
8) At aschool fundraiser the students sold fifty-nine boxes of candy with each box having
fifty-seven piecesinside of it. How many pieces of candy did they sell total ?
9) There arefifty teamsin the state triviatournament. If each team has fifty-six players, how
many players are there total ?
10) Davewas building aLEGO tower. He built it thirty-five stories tall with fifty-one LEGOs
on each story. How many LEGOs did he use total ?
11) A movie theater has sixty-one rows of seats. If each row has sixteen seatsin it, how many
seats does the theater have total ?
12) George was helping his mom plant vegetables in the garden. Together they planted ninety-
two rows of vegetables with forty-nine seedsin each row. How many seeds did they plant
total ?
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